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1* Nivel Corredor (P10) = 2° Nivel Correder (P7) 11210
1% Nisel Corredor (P12) — 2° Nivel Correder (P9) 7| 012 15
3 21 2
4
redor
15 0.0
| ) i i i
iy & 460 é 46( &
| | | |
i | |
: S e
‘ .._.._.._.._"_“_“_“_“_“_“_"_P“ﬁ! .._.._.._.._.._.._.._.._.._.._.._.._.._.._.._.._.._.._p.8 | .._.._.._.._.._.._.._.._.._.._.._.._.._.._.._.._.._.._p..g A —
‘ 19 \l (7 O | 19¢£0) |
i | | |
! | | |
! ! ! !
\ ! ! |
| i i i
« ! @ -J\r
| i
| i
i 2 i 2
\ i P12
...................................... ' Ao
/1 //l
/4 Jo V=302: 19/40 7%

Fioo X




(2

ciglVolumelBarras

= ISR {
= S

o = -
=l

S |co

mento

©

El
Supe-fice total: ~

Pilares

19/40

/=402:

Q
)

)
oo ol o m—
1]

r

rred

N

Escala:
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(cm) (cm) |(cm)| (kg) | (kg)

Fsquema Comp.|Total|CA=50|CA-60

Pos. Diam. Q. Somg. SIS - -
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[5) 10 50 (e} ) ) e . S 4
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